Csum p:aCk ¥ dn,do/ GeV

Ratio to CDF

1960 GeV Ipplloarl Underlying Event

_| T |I'I'I'I'|'I'I'I'I'| Illll—ﬂ
50 — , 13
B Sum(pT) Density (TWRD) (h| < 1, p.>05 GeV) 1z
L =
B m CDF _°m°.
| ---- Herwig 7.2.0 default _n
40 — —— Pythia 8.165 default _S!
— ¢ Sherpa 2.2.5 default —o
- e
~ -

30 — —
B o
- ¢ -
20 — a S
L i . m N O‘_f|)
L .=
m " X
| . 1%
."’ 1<
(&)
=
—H o
Q
-1 N
15
o
(&)
e e L E

T | T T T T |:
-2
1

' :

—0.5
1 " 1 " | " 1 " 1 " 1 " 1 " |
150 200

pT(Ieading jet) / GeV



	Contents
	Page 1


